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L UEW i v (u, v) = {u® + %U, 2ud + uv, u* + %u%} A2 A T
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’I"(’LL, U) = {u27 2u37u4} + U{gaua §u2}
i a(u) + vb(u).
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a = {2u,6u? 4u®}, b ={0,1,-u}.
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2. UEBH I 7 (u, v) = {cosv — (u+v) sinv, sinv + (u+v) cosv,u+ 2v}
sen] Rl (e RAERL r(v) = {cosv, sinv, v} [TIZEHITHT).
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r(u,v) = {cosv —vsinv,sinv + v cosv, 2v} + u{—sin v, cosv, 1}

£ a(v) + ub(v).
I
a’ = {-2sinv —vcosv,2cosv — vsinwv, 2},
b’ = {—cosv,—sinv,0}.
CIN=E:E 5alls
—2sinv —vcosv 2cosv —wsinv 2
(@',b,b') = —sinwv Cos v 1| =0.
— Ccosv —sinv 0
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ry = {—sinv,cosv, 1},
ry, = {—2sinv — (u + v) cosv,2cosv — (u + v)sinv, 2},
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MESEIT: EFERAUE AR r(v) = {cosv,sinv, v} FPIZHr(u,v) =
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{sinv, — cosw, 1}.

3. UEMH IERRIH 7 (u, v) = {v cosu, vsinu, au + b} A& AT Ji& M.
WERR: % a(u) = {0,0,au + b}, b(u) = {cosu,sinwu,0}, M JE7FEH] LA
G
r = a(u) + vb(u),
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a'(u) ={0,0,a}, b (u)={—sinu,cosu,0},
A
0 0 a
(@',b,b) =| cosu sinu 0] =a#0,
—sinu cosu 0
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Y1 ri(s,u) =7r(s) +uB(s),
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i Frenet A3, TA115 2

(T7167B) - (Oé,,@, —ka + 7_7) = T(aaﬁaﬁy) =T 7é 0;
(rv’Y?’Y) = (a777 _7-6) = T(anﬁa'-Y) =T 7£ 0.
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5. RVIME x cosa + ysina — zsina = 1 {145,
f#: 2 F(r,y,2,0) =zrcosa+ysina — zsina — 1, WBH K
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F(x7yaz7a) = 07
Fa(q")y)zaa) = 07
A
rcosa+ysina — zsina — 1 =0,
—zrsina+ycosa — zcosa = 0,
HEa, 14
22+ (y—2)? =1,
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KR y-40 5 2Bt AT T WERe, 43307 By -HA 2 A, AN 2? + (y —
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6. RPN o2 + 20y + 22 = 20 (AL,
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f#: A F(r,y,2,0) =’ + 2ay + 22 — 2a, W F,(z,y, 2,0) = 20z +
2y — 2.
F('Q:‘? y7 Z? a) = 07
Fa(x7y7z7a) = 07
HEa, 13
22 — (y —1)2 =0,
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WERR: MEIN. HEMD. VIS BTN R — S Br(u,v) = r(u) +
vb(u), Hrrr(u) & FEMTTRE, bu) A H BT ) 0] &

SHEETET, B(w) = % 9, B (u) = 0, AT (7, b, B) = 0,

SPHETL, v(u) =W 0 &, Bk (u) = 0, I (¢, b,b') = 0.

Xfa ) e I, b(u) = v/ (u), KL, b,0") = (', 7', 7") = 0, #i
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8. UEH ryy = ryp = OMJHITT S : r = 7 (u, v) ZFEMHI.
ERA T : Hryy = ryw = 017, 2% &, BOH &k b, B

Ty = b,
PRI u By, 15
r(u,v) = a(v) + ub,
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L=ry, n=0, M=ry n=0.
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Ko r(u,v) = a(v) +ub, HAHE rw = 0516 (u) = 0, Bl b = const., X
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